Name Cumulative Test °
, A

Iso take Power-Up Test 9

Score
(1‘!). One hundred nine tourists arrived - 475;. To the nearest quarter inch,
on the first boat. Altogether three " how long is segment AB?
hundred tourists arrived on two
boats. How many tourists arrived f f
on the second boat? Lol e i e
inch 1 2 3

(3}. Pierre paid $8.00 for an item that
cost $3.17. How much money

should Pierre get back? (g). To 'wr'\at mixed number is the arrow
pointing? l
| | | | | |  EEbe]
| | B | W - |
4 5
(2}. Round 652 to the nearest hundred.
(391). There were two hundred twenty-
4. Draw and shade circles to show four cars on the highway. There
o the mixed number 3%, were nine hundred nine cars on

the parkway. How many more cars
were on the parkway?

F 53) Use words to write 11.7.

Find each missing number in problems

10-12.

6. It is morning. What time was it
) : :

1 hour 45 minutes ago according 10. n

to this clock? % a9

527

11. 814

fige LT

303
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76

12

@1

13

@)

14

42

15

)

16.

(45)

4r = 36

I

$7.03
- $3.47

68 + (8 X 4)

17. 4 X (2 + 6)

(45)

“3)

19. 0.85 - 0.40
43

20. 25 + {16

(n.3)
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Cumulative Test @:J.)

18. $8.14 + 76¢ + $2
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